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M0145/M0187 ELECTIVE: FINANCE: INVESTMENT ANALYSIS & PORTFOLIO MANAGEMENT

BMS TSR
Q.P. Code: 030 »=.v ;_: Lo gl
e -V Nov- Jalf S LA
[Time: 2% Hours) f-'; V : { Marksﬂsl
.- Please check whether you have got the right questton p?aﬁer. ¥ \ g &
N.B: 1. All questions are compulsory.” RS S5 PR
2. Figures to the right indicate ful! qtarks“’ BTl
Q.1 Attempt any 2 0 4 ' 15

a) What is an Investment? What are various objectives of mvéjtment?
b) Explain various functions of investment Bank. X '
c) What are the advantages of online Trading?

15

Q.2 Attempt any 2 A,
a) Explain relationship between risk and return. j\" AR M
b) Mr. Raj wants to invest in company X on Compa, /
given below. j
! Return (%) ' Probabuity
W S oS 01
P SR 0.2
y 0.4
Ay 3 0.2
o 0.1
Calculate expected return;oqutluhe cempames a:‘id adsﬂce whEthE;h should invest in company Xor Y.
c) From the followmg *‘mforrhatlon calculate Beta of wcunty : ¢
Year Pbiery Returd‘op Securrtv (%1 Retum on Markét Portfolio
Ry s - : 33
-‘::26
‘ 24
. 28
"‘); 30
Q3 Attempt anv 2 S 15

| a) Whatis a*partfoho managément? What%re the basic prmcrpfes of portfolio management?
v h] The Ca pitai of Carﬁun Co, Is as. follpws ) -

g Paphcu“lgr & Rs.
S & 10% Pra‘}‘er ce“s‘hare Capntal Rs 12,00,000
4 00 {Re 10°eath A8 S AP
12% Debentuge = ‘.;i-g;‘u Rs 12,00,000
AT Eqmty Share (Rs 10each} Rs 76,00,000
2w profit. hefore tax, STEE Rs 30,00,000
S A T e S8 40%
oo “Divided ner shgre Re 1
oL SR Marke’the sFare Rs 90
Calcuiate P ""‘71-_»
(i) Earmhg pet stharé-\ oy (i) Dividend payout ratio
- (ili) Price. Earmng ratlo (iv) Divided yield ratio

o c) Expjain vanousx:hartmg techiniques.

A A 1530F3C4BSETABB225F 71 194F863347F



Q.-4

and Trey nor measures.

Attempt any 2
a) Explain Eff' cient market theory

Portfolio Average Return
A 16%
B 12%
c 11%
Market index $

The risk free return is 10%

Security P
Return (%) 20
Beta 1.2

If risk free rate is 8% and market rewmmm.-
Pricing Model ) :

f,...

Q.5 Answer the following. Q S ‘ : : - -
As a portfolio Managemen,hCens( l?ﬁhﬁqu arg‘aqmégaéhe:d by. @imfe;tgr v\m;h mvestrble funds of
Rs 25, 00,000. He wants tpftimw he;lr\yesfrmntgwafeﬂé;s avaiiahle;wﬁlm whnch will give a state return
of risk a‘ksn“cmt\’a with tbe investment.

1530F3C4B5SETABB225F71194F863347F i



bt * /e

MO0145/M0191 ELECTIVE: FIANCE: COMMODITY & DERIVATIVES MARKET.
Rws.
<Sem™' -y Nov: Golf

[Time: 2 Hours] ' [Marks 75]

Q.P. Coda 20044 |

I

Please check whether you have got the right quest{bn paper S E
N.B: 1. All Question are compulsory. Foa
2. From questions 1 to 4 attempt any two of the. Intémal omipns A B and C.
3. Use of simple calculator is permitted. SO E S P& w

¥ A

Q.1 Attempt Any Two (7.5 marks each)

B. Write a note on Derivative Market & its parnmpanf?” ) 3 7.5
C. Explain the various features of derivative markeg g 7.5
Q.2 Attempt Any Two (7.5 marks each) el g Bt y
A. Explain the following terminologies S8 7.5
i.  Contract cycle e
ii.  Initial Margin Ea
iii.  limit order O A A

AN

B. Stock of Don Ltd is currently quoted on BSE at Rs 3157/\'_lnierest' rate preva:lmg |s 7% p.a. What future 7.5
price will you quote fora 3 monthsiumrew(mtract an the stotk Don Ltd: - T
C. Explain Cost of Carry model nfd‘uturéspncmg W

Q3 Attempt Any Two (75mal*kgéath) o ety ’y“"\
A. Mrs. Rena is Bullish. She: pumhased relréhé\e f:all optlohs, wrth s;nke pricé of Rs 800/- at a premium of 7.5
Rs.25. On expiry the spotpﬂce may be asfo}iows‘ 725,750, 775“800 825,850,875.

i) Calcula& the»Pro‘ﬁr/Loss & draw payoff dlagram for the same
B. Explain the dlfference betWeen futures & options 7 L0 ¢ 7.5

C. What is optmn premiﬁm? What are the factors affectmg aptmﬁ premlum? 7.5

n ¥ N

Q4 Attempt Anvjwo,(‘i 5~ma:ks each) SRR St
A. How the future contract is séttled? = . & . o0 T 7.5
B. Explain the.n;fa('gln svstémmde,rlvatWEs market L 7.5
c. Explam»varidu&’?nethods of measunng VaR. ,' 7.5

ﬁm\m’gm based on vo[at:lity m market prlce ln options, the outgo is limited to the premium the trader pays
Un the contract Sq\ﬁ vou want to Iotk in the price of the commodity or want to bet, then options offers

¢ yo prggé rlsk Eﬁectlvely with options. Say, you, as a farmer can take long put option to
_5\elt mtonnesw:jf maize at Rﬁ 1,500 per quintal five months from now at a premium of Rs. 100 per quintal.
ft#fe pnte g“oeSPto RS \1 Sﬁ(ﬂ&)ntract becomes in-the-money) on contract expiry a profit of Rs. 200 (per

.'Asmef th‘é‘abbve case optmns contract is cheaper than futures contract. Why? (2

: ) How is hedgmg c{ﬁne using options contract? (2

* > e ".What 1s meant by short position and Long position in any contract (2

d)."Whatis margin? Why it is charged by exchange? (2

\;, (el g _1.'1n the abbye case if the price in market on expiry had been Rs. 1,600 then what would have been (2
T S "'_\;.---;“tﬁe profft /Loss for the farmer.

S Page 1 of 2
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MO0145/MO0185 LOGISTICS & SUPPLY CHAIN MANAGEMENT.,
RmMes.

Sew' -y Nov-Jolt _ E

[Time: 2:30 Hours| s [Mai"ks 75]‘ :

Please check whether you have got the right question p%xpcr W A

Note: FFH > L AT S
1. All questions carry equal marks. S FEFLESFLO S IS
2. Figures to the right indicate marks. : T HEET QL o A
3. Use of simple calculator is allowed. BROL R ety NG

1]-

Q1. Answer Any Two of the following S -"f_ ':._—'-.‘Ti“ Py (15) ; |

What do you mean by Bull-whip effect in SCM? What are the causes’ of' the Bull—whlp eﬂ'ejct?;‘-_i. 4
Discuss 7 R’s of Customer Service with a suitable e'xample Ay o TS

From the following data calculate a 3 penod and 5 pcnod movmg average also forecast &
demand for the 11" period. S X

Period 1[2}g 3 "“_';9;.."__‘16“‘ ETS|
Demand in Units | 120 | 125./ 130135 | 140-{ 145|150 | 165 | 180 | 200 | 2

\\

Q2. Answer Any Two of thexfoleowmg e (15)

What are Product related &nd'Mai‘ket related faf:tors mﬂuencmg traﬂsportatlon costs and
pricing? AN ik

Discuss the objectwes q.ﬁd pnhmples of Maidnal Handhng System

Define Packagmg Expla:t thedxfferenttypes, of Packagmg ¥

Q3. Answer Any Ty@‘ ofthe foilmyi‘ng o 1 o (15)
-\ \_’ '\ g
Explain the Qonpcpt QfRﬁvUidér LeVel (RGL) Daxly consmnptmn of a raw material in the
productlomprpéess is. #ﬂﬂ units. Lea(itlme for delwery is 5'Days. Company’s policy is to keep
a safety@tﬂck cqwll {Q tWo day s dmly oonsumptlon vo ‘guard against stock out. Calculate Re-
Order Leve]c: 7.0 (e s
Explain the prmc:ples of 10g15txcs costmg Explam the concept of mission based costing.
What are-the- dlffﬂfén tmnSpbrtatmn netwofk design options available in Logistics Network

ijl nf th&followmg (15)

s : a.» 5 'r"What 18 ldgwtlcal mﬁ:astructure? ‘What are the projected benefits from GOLDEN

QUABRILATERAL%m;ew

~b.« . Define 3'PL.. Whatare the types of 3 PL service Providers?
Sl _‘.-.AE-’D:scuss vanous gmba{ Logwtlcs trends.

Page 1 of 2
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M0145 /M0185 LOGISTICS & SUPPLY CHAIN MANAGEMENT.

Q. P. i’:ode. 19384

Q5. Read the following case study and answer the following questlons glven below v (15)

M/s Chemtech manufactures various types of industrial chemicals: ht thc Qutskuts of Chenna}

It has distributors located at various places across the count{y MfsrfChemtech alscqsells;.;

chemicals directly from its factory as well. ST jh;,

M/s Potash Ltd is a major supplier of raw materials to M/s Chemtech But Mis. Chetntech ARL Y L s
facing problems with this suppller because of (i) late dellverlcs, (iiy dehyefy of wfmlg orders, .- ¥ 5
(iii) missing deliveries giving reasons that they had not received: the Orden Huioncally Mfs O
Chemtech has dealt with its supply problems by mmply#ehahgmg 1ts sﬁpplzers The company'jw A

now is contemplating on further additional changes

M/s Potash, as stated before, is one of the main supplmrs of M}‘s Chemtech. M/s Patash hﬂlds
a large inventory to meet the demands of its cnstbmers But some of the vu:al 1tems ﬂf mver.ttory
have to be imported. The lead time for this is. m'gund 3 month§ fo A b

Now, when M/s Chemtech places order.-; f@r nhQSe vnai 1,£em3 oﬁnventof‘y M/s Potash is not
able to meet the order immediately due | to stock outs. Théréfore, Ms, Chemtech feels that M/s
Potash lets it down due to which tha‘pmductfbn schsduies of M/s Chemtech is t()tally
disturbed. 7

Due to the repeated frictional relatlonshlp WlthM/sﬁPotash the ﬂanagqmgm of M/s Potash is
wondering whether it is worth Jmepmg customer relatlonshlp with M/s’ Cherntech Of course,
M/s Chemtech is one of its'major buyers, but the constant- threats by M/s Chemtech has put
M/s Potash on the defensive: That is, they feat»that if they suddenly lose the business with M/s
Chemtech, then this might scnously affect the opemtmns ‘of M/s Potash; The top management
of M/s Potash is serloilsfy CQntei‘npla;tmg to. c*ha;nge its customer base, namely, it wants to now
focus on building a: customehibase founded on IOng-tern relahonshap and rely less on business
with M/s Chemtech S > . 4

The present sccnarui betwge‘ _M!s Chem‘tech and M/s Potash is hke this:

At the begmningv@f @ach mnmg the ctistémers of M/s Chemtech forecast their requirements

for the next: month Tthughont the month, thesa customers keep telephoning their orders to

M/s Chemtqph’“s ﬁ‘iarketm ﬂsﬁaﬂment The representatives of the marketing department relay

the ret}mxefnents {ﬁ' the: éustom‘ers to the logistics department of M/s Chemtech. The logistics

deparhnentbf Ws»Chemtech transmits the orders to the purchase department and the purchase
dep’artment, in tum, ’Lbesi‘nrders«the réquired stocks from M/s Potash.

o] .ScVe al timts, thefﬁrcustqmets c}f M;’S Chemtech place expedited orders. Such orders are
S _\generahy ot-an‘lét\by M/s Potash' sinice the stock with them has already been earmarked for
he:‘cuStomefsof M/s Chemtech are dissatisfied for non-delivery of stocks on

R ::;1) Exfﬁuﬂe What are: Mfs ChEthch s logistical problems ()

5 . 2) Discuss: hew Mis Chem*tech ¢an improve its logistical operations (5)
i 3) What accardmg ta_'you, should M/s Potash expect from its customers? (5)
] & & i 3 ok ok ok ok e 3k ok ok ok ok ok ok ok
Page 2 of 2
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MO0145/M0186 ETHICS & GOVERNANCE. ¥
P"ME ' Q.P.Code:19073 =
Sew' -y Alov- Jolf SRS T
[Time: 2 1/, Hours] LR > gReE I.X[M'fai"k‘s‘:"l

Please check whether you have got the right q‘qejs‘tipnfp_apgr.i DL ¥ B
N.B: 1. All questions are compulsory - S s
2. Figures to the right indicate full marks S

Q.1 Attempt any two questions FE RS T LT T P S 15)
a) Define Ethics and explain its types. e S N G F S S S
b) What is Business Ethics? Why is it essential for thg_léfé'aniz“a-tibnl?. e

¢) Discuss the role of government in ensuring B,g“s}neﬁswEthics‘._;;:

Q.2 Attempt any two questions 5o S L L S S RTH IS & (15]
a) Discuss the principles of Ethical M:ér}éeti_ng’.: = & ’ FLTD S S s
b) Explain the concept of ethics inﬁq’iél_i_inn."\ﬁ SRR D )

- c) Suggest some measures to ensure ethics at workplace.

Q.3 Attempt any two questions BB A S :

a) State and explain mechanisms,used to jﬁﬁplg_r"r}éﬁt‘-{:}or'poféltékg}bve_mahce in India.
b) Highlight emerging trends in 'Cbrpgifé_téﬁg'vérhqpte._ Vi '
c) Write a note on Audit-Committee. - TS

(15)

Q4 Attempt any two quggffoﬁs;f;-.'1_;:»:.- TR NS TS (15)
a) Discuss the{é@l@fi:épt}of-j‘ripie'Bbt_t_t;m Eing 50 0S8 i
b) Bring oug;tbé"féquﬁgibili;:jpf_busirné'rss“j_':owards various stakeholders.
c) Exp]ain!‘f&sﬁé'sﬁnﬂléhﬁlleng‘és*o,lf CS_R‘(Cbi‘porafe Sdciﬁ'l"lResponsibility).

W

Q.5 Case studf VAT FESE D ST S
M-Mart often finds itself around allegations of poor business ethics, accusing it of predatory
pricirg orp;‘lcmgprddugtgtoo low to drive competition out of business and gain a monopoly
/ in lbcal_':ﬂ?ai"fl'ge_ts';"M‘%,Maf‘fﬁa]'sp:,facgd"ph‘ar es by suppliers for forcing them to indulge in self-
defeating pracnces,\ such as pressurizing them to sell goods below cost or at prices lower
 than they would get elsewhere, = -

e MfMart-WaS‘:‘\ja_i'fso ;}a@tﬁs,;efﬂrhy:i‘tsj';eﬁr'ﬁpl;dyee_s for forcing them to work overtime without extra

“pay and for ot providing them appropriate working conditions. All the allegation against
- M-Mart were against ethical conduct of a business,
SQuestiong: 0 ST s
o E‘x'p.la‘iri"”i:h;g ﬁ;‘ri'qth_ié":il'ﬁfé;:fipqs"of M-Mart in marketing.
~b) Comment ol workplace ethics of M-Mart.
S Q) you arethe ma'rj\a‘gf:r of M-Mart what will be your course of action to save the reputation

Qe

- oftheutler © S o

ek sk oo ook sk ook ke e o ok ko

79DFB28E480BFA2572A76C47A922FC1B




Seﬂs

[Time: 2% Hours)

Please check whether you have got the right quegtign eﬁ?&fg

N.B: 1. All questions are compulsory but su bject to mtemé@
2. Use of simple calculator is allowed.
3. Figures to the right indicate full marks.

Q.1  Attempt any two
a) Explain in brief the challenges in wealth Management.

Q.2 Attempt any two

a) Define Insurance and explain its basic pri

.

b) Define Risks and the various types of rﬂié.
,‘?1,,%@;-,_ :
¢) What is Insurance Planning and exﬂbé TN NS

&y
£ 2’

Q3  Attempt any two

b) Dr. Sandip sold on 20. oqﬁzgiybrem&@%bw & AR
10.07.1993 for Rs. 8,00,000, Expehses

& M_] M\"a
\")

‘o

X

;ptk f DQ;QQQ It was purchased on
\ mb ﬁd{b @ &" ﬂﬁb Dr. Ashish incurred expenses on
improvement of ul@h@‘&{e m-ﬂnaﬂ\claf _\_!é’ f 2@ qfhs\ Q}bﬁ’@q.% invested Rs. 15,00,000 for purchase
of new resudentlai‘}zﬁ‘ ‘ﬁlq hﬂi{z 5. _ph afﬁ:{iég gujnﬁugé Net Capital Gain for the Assessment
Relevanit € ‘ ‘m s under:- i

. "tqﬁhhﬂhhon Indices

m

Assets Rs.

a N Machinery 14,80,000
e . ma}a_w@ T & Investments 5,60,000
B o0 Wm“fgre@ataﬁ‘mﬂ ) Stocks 5,05,000

SN ~lﬂ£ebhﬁtu?e&f & 5[, Bills Receivable 1,00,000
~ o1 Tra ) Trade Receivables 2,45,000
Cash & Bank 1,590,000

Profit & loss A/c 70,000
Total 31,50,000

1CBDCOEC913EBBISEIACF1860C89BDCY

[P.T.0]




You are required to compute the following ratios:-
1. Current Ratio

2. Quick Ratio
3. Capital Gearing Ratio

Q.4  Attempt any two
a) Define retirement planning and explain need uﬂletirem

b) Explain the concept of PPF (Public Provident Fund) gé;o
IS sr
c) The following are the detail of Ms. Shuchi for S5
» Income from salary — Rs. 8,00,000 :\%’_~ 25
» Income from house property — Rs.
» Income from other sources — Rs
She has made the following paymentgvv
> Mediclaim premium of Rs; 20,8

check-up of self. Lo

» Contribution to NSQ}N@\@%

Compute the taxable income.ar
\3‘\ &j’ 3:
\‘ 3
Q.5  Mr. Aaryan, a qualified Chaft‘
consists of himself, hlsﬁ{fe Q‘

the daughter is still ﬁm&d éﬂé %
( '-( e X

Ji ‘\"
= 'H

Mr. Aaryan hasréét@d&rqﬁ
etc. aggregatiﬁ about Rs 1.4 @“tpﬁ@

W under Chapter VI-A.

=)
b

<:~
cmnpany in India. His family
‘aﬁ@md well settled In USA whereas

O
L

((;{

bﬁﬁéﬁt{ﬁund Gratuity Fund, Leave Encashment
n.a\about financial liquidity and is planning to

take up cqns i_&h&;b@-&l{gaaﬁ @Fﬂﬁs in H s aﬂ.@e\'n about his daughter’s higher education, as
she wants tb '

hi§ to plan for her wedding expenses. Safety and

o N o
3‘ o .:..‘ = S,
R S
, q \ Y oS
N7 ol ,Q.‘ D ;_\ S o

n aMMng questions:-

1CBDCOECS13EBB98EYACF1860C89BDCY



Q.1 a)

b)
c)

Q.2
a)

MO145/M0197 ELECTIVE: FIANCE: STRATEGIC FINANCIAL MANA(:EMENT s

R vx Y
Q.P. Code : 19140

[Time: 2:30 Hours] S5

Please check whether you have got the right qu.egtwn paper

N.B: 1. All questions are compulsory. g At :
2. Figures to the right indicates full marks.

Attempt any two questions ' QA N
Shares of Pritam Enterprise engaged in promotion and salesof ta;nmetéml Spacésus quoted@t. R5.500 ¢
beginning of the year. It has capital expenditure of Rs.300 ¢ cmﬂ: Qt ﬂm year rend. - . o
The cost of equity is 15% and 3crore shares arc outs dmg. ----- ;
Ascertain the value of the firm at the beginning of thé%year- sf ﬂne antimpated proﬁts ?or- thb ﬁexi year is
Rs.280 crores and at that time Pritam enterprise deolarEs(g} No, diwdend (h) Rs. 12 pér shar@a widend

Explain XBRL and state its features. F R QTS T DK )
The following information relates to Maya Itd. B 4 o A 3 :""' ," T -
Earnings of the company Rs. 10,00,000
Dividend Payout ratio 60%
No. of shares outstanding 2.00,000 %
Rate of Return on investment 15% S
Equity Capitalization Rate 12%

i.  What would be thé“M ket Value per share as per Walter’s Model?
ii.  What is the op 'v1derlﬂ Paytmt rano aécofdmgmta Walter 's Model and the Market value of

Attempt any two. qn 15

: tléh-'h VS oF s ‘
From the follouhng detaﬂﬂfejahng toa pwject analyse ihe Sé)'lg}tmty of the project to changes in Initial

project cost and@nﬂua] gashmﬂ@w

Initial Project C o8t -
Annual Cash ‘i,gﬂow
ij cict_ife

‘:»?Io whlch of the twa }ﬂcl;ors the pm}ect is mostsenmtwe? (Use Annuity Factor: 10%=3.169 and 11%=3.102)

‘“ \,. ‘% o 4
,f"‘

&-Igtdliqfap mﬁes@ﬁcn?bﬁdgﬁw Rs,25 lakhs “for next year. It has under consideration three projects A , B
ana @ (B and Q are mutually exc]uslve) aﬁd ‘all of them can be completed within a year. Further details are

B In'vestment Required Cash Flows

(Rs in lakhs) (Rs. in lakhs)
57 14 19.6
12 19.2

10 15.0

Page1lof3
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M0145/M0197 ELECTIVE: FIANCE: STRATEGIC FINANCIAL MANAGEMENT.; e

Q.P. Code 19140

-

b S =

Q3 Attempt any two questions: ; KA
a) MK Industries Ltd, is engaged in textile business.
Income statement for the year ended 31-3-2016

Particulars Roin Lakhs &

Sales 6,000 -
Less: Cost of production 4,500 3
PBIT weE
Less: Interest on loan
PBT :
Tax @ 30% = .'
EAT o Q5
Balanc P XT X
Liabilities Rs.uﬂai:lghg 1; " 1o - 'Rsiin lakhs
Equity Share Capital (Rs.10 each) J’ 0200 | Land & BuﬂdmL 100 5.5
Reserves & Surplus S RN le&Macmgéw 1200~ |
10% Bank Loan = M0G0 L DERIST o S s 00 o
Creditors' 50 ) Stock "; s
SO o F oS Lo i].Cugh & Barik: 25
T S “5@5 o B & e AT @ o 500

The Weighted Average cost.of capital is 15% and cempany 'IS.IIMECI ﬁg’BSE and hhs a P/E ratio of 6 times.
Calculate (a) value of the Qﬁumtv.a and(c) MV A Qs
n < ,n 9 ¢
b) XYZ ltd.is intending tohﬂ\@r@%ﬁﬂ ﬂiy muger) XYZ 4d:’s shares a cumently traded at Rs.25 per
share It has 2, 00,000share andin and m”égrmngsgﬁer t\axes aﬁmunt o Rs. 4, 00,000. ABC Itd. has 1,
00,000 shares outs@;\dzﬁé,\eits\" marki gt pﬂ%@ls Rs’IZ‘"SD per ghare\ and its earnings after taxes is Rs. 1,
00,000. The me:genoﬁ&ﬂ@& Bﬁb;:tﬂf by means 0f stock swap (Exchange). ABC Ltd. has agreed to a plan
under which X‘?‘Z‘Ltﬂ mﬁgff ﬂﬁcﬁ!feﬁmarke{:‘bﬁce of ABC' Ltd Shares
i.  What Thﬂ‘pﬁf}_ . EPSal;d PlEratio of both the compamcs?
itl .be YZ 1td.’s qul-merge}' EPS 1f ex;:hahge ratio is based on current market price?

o

RN Rry
a) Fﬂgm t’ﬁwf@bﬁﬁg\iﬂfﬁmﬁoﬁ‘fmdout the amount of provision to be shown in the profit and loss accountu
ofa\aommem bank Q3 t ,_’\. =

Rs in Lakhs
S d S, 7,000
?snbastaaigra;a Advm @ﬁcrude éqeured exposures Rs. 1,000 lakhs and | 3.500
’balamkes t}hspc}\ured gxpoétgreg Rs.2; 500 lakhs which includes Rs. 1,500 lakhs
in.respect lﬁ‘ﬁasmmtqfe,ldaa account where escrow accounts are available)

Dou tfulmAglvdﬂ e | tfn}:edugedl 1,500

500
600
300
200

Page2of3
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Q.5

M0145/M0197 ELECTIVE:

2016:

Production for the year
Finished goods in stores

Raw Materials in stores

Production process

Credit allowed by suppliers

Credit allowed to Debtors

Selling price per unit

Raw Material cost

Direct Wages

Overheads

There is a regular production and sales cycle and Wageg%ﬁ Vqﬂmﬁda:él’ﬂf: e\venj- ¢ ,Waﬁe am paxd in the
next month of accrual and overhead are paid in th'e,mme m\ehth‘ Mafi:ﬁ' !
production cycle. Debtors are valued at sales AR '
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Case study 4\‘? ‘“

Delta Ltd. has the following estm:ﬁ'@" offaf - :
investment proposal warnei\iv’ith’ )\ﬁm 5Be plaﬁt;apﬁeny’ Itmfends to ﬁ:ggzcisxon tree approach to
get a clear idea about the posggbfé o te €8, stment. ﬂ&;ﬁ@#kpgﬂsmn is expected to cost Rs.30,
00,000. The respective presentvahic of @éh ﬂaﬁr qﬁpi“mx andv hroh@nblliués are as follows:
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